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Consider the following transitive tiling T.
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This sniestion besta yoier knowledge of varos avbits velating to tilings awd
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Nato that T ean b formed From Ry Ty dividing each tile of Ry mlo two by

an edge ahout which there is a rotstional symetry of on

ber 2.

[al 45 DBwes T have any rotational symmetriesT Kither ch;ﬂ;hu O, o

sad why none exists,

-

(i) Dioses T howe any indivect symonetries? Either describe o, OF sy

whiy Hme fasis.

M (i} Write duarn e 1T, the ke of translational Eile orbsits of ‘T

|'1.'| I'l:l Illil'i('itl-" i N lt'?'lll:'il.llli:“l'l'l Bl il nins' |brll.l|.":i il ik ]Jri.LLTr:-IH 4

fiih Vs sgaprrapriate theorems o Section' s of it GE2 o
cadenbiate o, 0T and w,{T)

copy of the magnified portion of T page 13 of this booklet. Place
vkl ymitihers al the cemtred af the tiles 1o dicate srhich ovlit
the Belong to, and anesvded ommbers near G odees 1o jilicate

Elie brsslationa] edge orlais.
{ary Dhessy the il edge chaggmun Loe T

(i) Faplain briefly why the vertex edpe diagram has the sune

mmbser of lines comning Meom eacl wdae dol, and explain why the

el dals are of feao difereot Lypes.

(b () Usang the magnified porbion of one file of o prage 135 of dhes
socskbet, comstiructh e odee side orbits of T undder the action of
the fiell svmmetry grooap CUT),

(1) Fined the incidenee syuind of T, and henoe its LIT vaenmmsbeer,

Remember to sabmil page 13 of this booklet, or a copy ol it,

with sonr assigomeont.
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